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PROVISIONAL ANSWER KEY

Paper: 068 - Acts and Rules administered by the Labour Department
Date of Test 28-11-2023
Questionl:-Under Employees Compensation Act, 1923 managing agent is
oG oMY’ 680MIBETVAHUMD @RE, 1923 @80 206Mefloty aBm@ agMomd -
A:-Individual manager subordinate to an employer
8@ 6m¥laIsag Sl¥lass aetilnG aoemesad
B:-Managing agent includes an individual manager subordinate to an employer
206medlot’ aBBMT, OIS HFleiSs ABTIN® 206MRA afMTITE UM
C:-Only employer can act as managing agent
6®2¢1gj50Q) 20@Eea 206MEt aBBMB00W (JUBEDIERM @l
D:-Person appointed as the representative of another person for the purpose of carrying on such other person's trade or business
26Q0@ QUBTIYSS Al @RegEIT mimimmy msgmam @y saieEl aego® AeTIRes olmluwlwow] mlewouilereals e
Correct Answer:- Option-D
Question2:-The Employees Compensation Act, 1923, the Maternity Benefit Act, 1965 and the Employees State Insurance Act, 1948
oG o@my e@omiBemuaHm @, 1923, eacgemidl esnimady @rg, 1965, agetqeiny eqyy mdayomday aog, 1948
A:-Together can be applicable
S 4] 6NIOWBRIEHIYANIEITY
B:-The Maternity Benefit Act and the Employees State Insurance Act can be applicable at a time
eacgemigl eenimadly’ @O0 a)oGoo@llmy’ eqRg’ enadayomdmy @@o 66O TLAWo FIOWE:AIr0
C:-The Employees Compensation Act, 1923 and the Employees State Insurance Act can be applicable at a time
oG 0@ EMIBETVAUMD @@, 1923, agetqo@lmy eqyg’ BaBayomdmy @R aMlal B MIAW. MIWEMIE:
D:-If the Employees Compensation Act, 1923 and the Maternity Benefit Act are applicable, the Employees State Insurance Act is not applicable
af)oGao@my e@omIBemaH® @re, 1923, easgemidl eenmadly @RE agTIAl NIWEAIGEMERIDS, afoGaP@IMY GIYY MBYOMBIY @RE oW
Correct Answer:- Option-D
Question3:-While working at the construction of a multi-storeyed building of a company, a worker employed by a 'contractor', supplied by a 'sirdar’,
faced an accident and became temporarily disabled. For paying compensation under Employees Compensation Act, 1923 to the worker, who among
the following shall be held responsible as per law?
8@ HMMIQes migodlel edslsomlmen mldamosmomiad eezoal amqgm@ﬂ(ﬁloﬁ, o] 'm)’ld}@o(ﬁ'm)as)% 62IQ B 'cce;omaso@qas S’ emoei £.21Q)D G omoslend], 8
Elgalledl Qo @I@ELNBR0W] @RNOOAUBEIHL MoRANERE:Q)e ©2IQ. 1923-681 af)oGao@lmy 6&:0MIMBEIIHM @R (@00 HE@OIFRIEE Mayal@lanoos
M@BSBMOTD, @69 alOQPMAIGITE @RYEEM WA OOMEIGEBUR?
A:-The contractor who employed the worker
09RO 6@ORNOBFOD G80MSIHA
B:-The sirdar who supplied the worker
6@¢1aIgle® Me6G] Ha1g Mildcod
C:-Both 1 and 2
1902 0o
D:-None of the above
ABHE AOFDAIOWIMR. @05
Correct Answer:- Option-A
Question4:-No contribution is required for getting benefit under which of the following legislations?
®269aj0QD og@y dloacidamosmania) slslass armeal aidesmain’ oM @raIvels?
A:-Maternity Benefit Act
eaegemigl emimadly’ o e
B:-Employee's Compensation Act
f)oGRIMY EHIMIMETVAUM @R’
C:-Both Under 1 and 2
1 o2 e
D:-None of the above
AHEB AOFDAODIMR. @oR)
Correct Answer:- Option-C
Question5:-The name of which of the following legislations has been recently changed?
®269a]0QD 0@ Wardanmapideo caleos @egomales aodlow?
A:-Workmen's Compensation Act
QUBLHOAMTY’ EHIMUMETVAUMD @R’
B:-Employee's State Insurance Act
f)oGq MY ERY DMBaYOBMY @R’
C:-Maternity Benefit Act
eaegemigl emimadly’ o
D:-Payment of Gratuity Act
CalOQMA GBoad’ @oggoﬂgﬂ @R
Correct Answer:- Option-A
Question6:-If there is willful removal or disregard by the workman of any safety guard or other device which he knew to have been provided for the
purpose of securing safety of workman and met with accident then
ez0ellenoee® MeeuRI] Mmelulgesmow] @rClIn)M agemEilaje MEE:MO NIBUIOMREDD AF Pal®EEMEREEEI ¢=IRlE®OEM aM:ajdaje N HAYPEI ERANMIERE:EO
©aIQOm3, @PEJOUB
A:-Employer is liable to pay compensation
Magnl@laDIGe M@EHIM H@IFIRISA FIOWITLAMIETY
B:-Employer is not liable to pay compensation
Maygal@landGe M@BHOMB H@IFIRISA TIOWITLAMEY
C:-Appropriate government is liable to pay compensation
Magnl@laDIGo M@EHIM NIMWOIS MUBENIA@ erIowyMAMIE
D:-None of these
@OJG)@O(TTOID%
Correct Answer:- Option-B
Question7:-In case of fatal accident if the commissioner serves notice the Employees Compensation Act, 1923 to the employer based on his source
(a) The employer can neglect the notice.
(b) If the employer thinks liable, he shall make the deposit within sixty days of the service of notice.
(c) If the employer thinks liable, he shall make the deposit within thirty days of the service of notice.
(d) If the employer is not liable, he shall in his statement indicate the grounds on which he disclaims liability.
20EBHNIW @RAIGSAYENRIWI®, @adflauemd O@IFlBBRI®IANNY agoGa@IMy ta:0MiMdervH® @rey, 1923-ad emoglny madelwosd
(a) emoslejsag’ emoglay @paimsmlaroqym@osn
(b) emaglaisa sniowymamoassmay e:m@meeEs@d, @Al eiélyf @RQAE Alaimamimneslcd Grwud Mmledtal MsSmEM.
(C) emodigsa ciwMNMoBIMaT B@@IeEIMW, @RCICa] eidlal gojoy damoplnagcd Gpwoud lestnl MSOmEMo.
(d) emosiaysa sowmnmegE, @AM @O ITYIAIM®IE ciowi® Mlesd:dlesmmale @oslmunome myalaereme
A:-All statements are correct
)50 @JIROAIMESo @6

@M.
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B:-All statements are incorrect
)50 @TRIAUMEBGo ODOQIEITY
C:-Only (a) and (d) are correct
(a) g0 (d) 2o eo@ac6em K@
D:-Only (c) and (d) are correct
(€) o0 (d) 20 @0@a0e™ veal
Correct Answer:- Option-D
Question8:-Under Employees Compensation Act, 1923, which of the following are considered as dependent of deceased employee for the purpose of
paying compensation?
(i) a minor brother or an unmarried sister or a widowed sister
(ii) a widowed daughter-in-law
(iii) @ minor child of a pre-deceased son
(iv) @ minor child of a pre-deceased daughter where no parent of the child is alive
oG oI EBMIBETVAUMD @R, 1923 @80 MayniBln0de M@EHMEIM adlal Hlaimenice® ERUFIMEIV] @AM EREEWIET alBleTlesmM®?
(i) (@OWROTIWIBIT® MUEANIBEM @PRELIBIB @PAIANACIO@OI® MEANIRAE! @ReLIEIT QWA MVEANIEE
(ii) alwawow amas.ud
(iii) aeemasEI® 2HMOO (@OWBTTWIBOTD @S]
(iv) gml 2@y 28865 @IV BOTIIBITDDo &IOS EEUMIBET @RG. HlalladlalepEmDaow gl
A:-(i), (i) and (iv)
(i), (iii), (iv)
B:-(i), (ii) and (iv)
(i), (i), (iv)
C:-(i), (ii), (iii)
(i), (ii), (iii)
D:-(i), (ii), (iii), (iv)
(i), (i), (iii), (iv)
Correct Answer:- Option-D
Question9:-Under the Employees Compensation Act, 1923 Act, employer shall not be liable to pay compensation in respect of any injury which does

not result in the total or partial disablement of the employee for a period exceeding days.
f)oGqi0@IMY EBMIBETVAHUMD @R, 1923 @ @@oos, damoniad @&smass $e180lcd Hlamepiee a0TmeEnd GIUIlH:620 BRI EEABRNDTTIN EIEEMAIBHICD
ABOOEIgj @SN MaYalBlnnoGe MMM E@IFIASA EIOWITLOMEY
A-7
7
B:-3
3
C:-5
5
D:-2
2

Correct Answer:- Option-B
Question10:-Under the Employees Compensation Act, 1923 employer shall not be liable to pay compensation in respect of any injury not resulting in
death or permanent total disablement caused by an accident
oG oI EBMIBETVAUMD @R, 1923 @E:00., B® @al®S. YRIASS AEIMERd MAERIW oJBER EEOIBRIENI DEMNRIGITD aFO@EIA) alElEFIM Mayaidlad0Ge M@E:IM e®IFlasa
EIOWLMOMEY
A:-Under the influence of drink or drugs
2BOTIMBEOCWI AQEBAGMIMBEOEWI muWlmEDilad
B:-Due to the willful disobedience of the workman to an order expressly given or to a rule expressly framed for the purpose of securing the
safety of workmen
s)@atﬂelagﬂ:e,gos MRS DOPMMGIMIV] AUSmRIY] MBIV GG PTDEEU GREYEIT UGBV BalOaSOTI 256ERES0 H@IFRINEIQOS aM:dBQY ERMMIEIEBICMEIMIE
C:-Due to the willful removal or disregard by the workman of any safety guard or other device he knew to have been provided for the purpose
of securing the safety of workman
620allEn0Ee M MYESHY DOPERMGTIMIQS m@ﬁﬂmﬂé@g@o@’l @D @AWY ago@EsIaje MYESHI NIBWIOMREWO 2 PaitEEMOTIORE c20aleoEM AM:ajde Mo 6.a1QYE:EO
@RAINIMIERHEDI HaIQMOIE
D:-All the above
@D Al0OMAIOWEIe
Correct Answer:- Option-D
Question11:-Under the Industrial Employment (standing orders) Act 1946 no prosecution for an offence punishable under section shall
be instituted except with the previous sanction of the appropriate Government.
DBWIGQ@D gloeaioeQ® (qRomaslesy 8odwQ®ud) @oeg 1946 @@do. Qidrn] (@000 WBUIBOAIW B HQODIM ITWEIs TVAENICIBEO YaB
@RMATCICWIOSWEO® BT G@O(T\)‘]‘ﬂ)én%ﬂac ABBOFODGBO.
A:-Section 12
emuaum 12
B:-Section 13
emusum 13
C:-Section 10
emuaum 10
D:-Section 11
equamm 11
Correct Answer:- Option-B

Question12:-No Court inferior to that of shall try any offence under Section 13.
afMEMEDUB @I BT GBSO HAVEUMD 13 (@000 DB B @QQYo AllaDEEM 6 .2IQYEHEY.
A:-High Court
£6a0EEISTI
B:-Supreme Court
aMeflo €IS

C:-Metropolitan Magistrate
6065000glgnd asdlemyg’

D:-None of the above
ABHEIW AOFTMAIOWIM. @8]

Correct Answer:- Option-C
Question13:-If any question arises on the application or interpretation of a standing order certified under the Industrial Employment (standing
orders) Act 1946, any employer or workmen (or a trade union or other representative body of the workmen) may refer the question to any one of
the
1946-621 BWTNIQ® af)oGaooQP@ ((g;ocrﬁ(uﬂo(ﬁ B0BWQHHUB) @R (@JBIR0 MVISUPASOBI Moty BIBWCIOM @REaIsHEIERI0 QaPMETIERD aemEslej 6aldGk
2QABMIM, aBOOBI 6@IFIRISAEW HMIFRSIcWO (megdsm’lm’s s)@a@elss;ﬂ@,gos esaw’ Qemlemd ag @@Imlul TVoRRISMEW)) GaldBl @RARES 0ad 6alQ0?

A:-Supreme Court
myeflo €0S@H

B:-High Court
©6aNBEISTI!
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C:-Judicial Magistrate of the Second Class
@6M00 gromileal Baslay@ asdlempg’
D:-Labour Courts constituted under the Industrial Disputes Act, 1947
1947-001 apamodle: @ds wloacsia SlFod @aledla) eaend eoosoileud
Correct Answer:- Option-D
Question14:-Who have the power to exempt conditionally or unconditionally, any industrial establishment or class of industrial establishment from
all or any of the provisions of the Industrial Employment (standing orders) Act 19467
1946-6e1 BWIIQGB 0fotie)ooR (qRomaulu’ sodawgeud) moaomieal aggi. @RegIEI agemEslaj alaIMINGET Mlamoe ngeE@EIaj QNI TUNIAIMOTMEVO AAITIOR
MUN0aIMEBE®R AlRINEETEO ETIVAIUWE:ER0 MmBalouwls:ea0 BFINEIMESS @RUWlB:00 @RAE6NTE?
A:-The appropriate Government by notification in the official gazette
&66)0lle VaVGIEd Allosmoaime Al IMLEAs TVBEIB
B:-Supreme Court
Mafle €IS
C:-High Court
£6aNEEISOI!
D:-Labour courts constituted under the Industrial Disputes Act, 1947
1947-601 apaimols ®de loaosim Sl @aledla ceend eosoile:ud
Correct Answer:- Option-A
Question15:-Which section of the Industrial Employment (standing orders) Act 1946 states that 'the draft standing orders submitted under this
section shall be, accompanied by a statement giving prescribed particulars of the workmen employed in the industrial establishment including the
name of the trade union, if any, to which they belonging?
1946-621 LBWTNIQ® af)otaoe@® (qRomBausly’ BodawQ@E) MAGTIOR oD A1 AlOQMEY D Aldady @Il muadafly oS qYOMBlewy BIBALQEUS, AIAINLOW
N2 ImEBIES ezoall GG 6@IFRIEBEeS AaEOBIER cald QMIM®, feMElaj PEMEITS, EPAMBWNS ESWy QM alaueEBud pueesQes MIdGly aluero.wosrud
MBS (@TPIAUMODINSIafo OEMRIVIG|EEMo.
A:-Section 3(1)
equeum 3(1)
B:-Section 3(2)
eauesm 3(2)
C:-Section 3(3)
equeum 3(3)
D:-Section 3(4)
eauesmd 3(4)
Correct Answer:- Option-C
Question16:-Under the Industrial Employment (standing orders) Act 1946 the objections, which the workmen may desire to make to the draft
standing orders to be submitted to the Certifying Officer within days from the receipt of draft standing order form the Certifying Officer.
DBWIIQ aloeeoeR® (quomdauslsy 8odaweeud) @@ 1946 we:or., @es qRomalu’ Bodwgeglcd emoslengleud pmalasm ag@IBo)e0d, @S qpomauslu’ Godanded ees
aulle@laf damesinesled madgleennalwy oadimudses muadafemermosm.
A:-12 days
12 dlaimoe
B:-30 days
30 Ao
C:-9 days
9 dlaimve
D:-15 days
15 dlame
Correct Answer:- Option-D
Question17:-Which section under the Industrial Employment (standing orders) Act 1946 states that 'certifying officer and appellate have the powers
of Civil Court'?
1946-601 OBWNIR@ 0floGy0ORPa (q0mBauslet’y BOBLQE:UB) @O @800 ' MAFOOa0Dflt) Boadlnudes. @l peswmIndeR. Miallcd esosdlges @rUle-0egemBM" alommM
Qo] aB®?
A:-Section 11
emuaum 11
B:-Section 10
emueumd 10
C:-Section 9
emuaum 9
D:-Section 12
emueum 12
Correct Answer:- Option-A
Question18:-Which section of the Industrial Employment (standing orders) Act 1946 deals with conditions for certification of Standing Orders?
1946 o2 BWMI afetepeQa (qRomdaul sodwee ) Mloaomiens ago allconadsm quomdauslou) BIBALQYBUE MIIGUEISEBMTIMPESS AUAITINGUB EOGE®:I0LK BalYMN®?
A:-Section 6
omueum 6
B:-Section 4
equaum 4
C:-Section 3
emuaumd 3
D:-Section 7
oquaum 7
Correct Answer:- Option-B
Question19:-Which section of the Industrial Employment (standing orders) Act 1946 deals with register of Standing Orders?
1946-601 BT agesqe@d (myomalsy sodawgeu) rlwacnleal agoy alleonaosny qpomalul 8IBWRHEes EEIqYQRIT] cIMLES®?
A:-Section 7
emuaumd 7
B:-Section 9
emueum 9
C:-Section 8
omueum 8
D:-Section 11
emusum 11
Correct Answer:- Option-C
Question20:-Which section of the Industrial Employment (standing orders) Act 1946 states about duration and modification of standing orders?
1946-0a1 WM afeeyoeqd (quomdaslu’ oduweed) dlwaotlen g aidajosm COMleyy BIBWRBESS @ILNAIWIEV. CEANTIBORR @Claf aloQM®?
A:-Section 13
eauesm 13
B:-Section 11
emuaum 11
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C:-Section 9
emueum 9
D:-Section 10
emuaum 10
Correct Answer:- Option-D
Question21:-Which section of the Industrial Employment (standing orders) Act 1946 deals with temporary application of Model Standing Orders?
1946-621 BWTNI@® af)oGaooQR (rg;ocrﬁmﬂeuf 803 WQHHUB) Mlwaooileal ag® alleowadem caowad aRomaLlety BOBWQRBSHS OB JERIUTB:® EeB:E:00% amugn‘nm"?
A:-Section 12A
omueam 12ag)
B:-Section 13
emuaum 13
C:-Section 11
emusum 11
D:-Section 10
emuaum 10
Correct Answer:- Option-A
Question22:-Which section of the Industrial Employment (standing orders) Act 1946 deals with penalties and procedure?
1946-021 BWNIQ® afoexoe@ (qomaulu) sodweewd) Mlwadmieal ag® Adaosm aleege MSaISIGOERE: EOGS:IY OalgM®?
A:-Section 11
emuaum 11
B:-Section 13
eauesd 13
C:-Section 12
emuaum 12
D:-Section 9
eauesad 9
Correct Answer:- Option-B
Question23:-Which section of the Industrial Employment (standing orders) Act 1946 states about the industrial establishments where this act not
applicable?
1946-621 LBWTIQ® af)otae@® (qRomBauslu’ BodaLQBE) MAGTISE! DY Qa0 D WWRe FIOWEHALDD AAITLIW TVNIAIMEBOS dOlal aAlOQM®Y?
A:-Section 11
emoaum 11
B:-Section 12
emueum 12
C:-Section 13B
emuaum 136l
D:-Section 10
emusumd 10
Correct Answer:- Option-C
Question24:-The minimum rate of subsistence allowance in case of suspension pending enquiry has been given under which of the following
legislations?
@REMIUMAlew ] MOTMYMBaUM ©2IQOFIM MVIN0aIREBIME Dalsflaim @RAINBMIIBH0 oGgQje GO MR IOPOQRM ofd mlwamldenosmamim’ eldlaoem’
nRSElEsmd?
A:-Industrial Disputes Act
apamoele adsen mloae
B:-Trade Union Act
es QMM mloae
C:-Industrial Employment (Standing Orders)
Qe e®IFIod (qRoMasleyy BOBWLQE:UB)
D:-None of the above Acts
Sl alosom o @8y
Correct Answer:- Option-C
Question25:-Which of the following statements is not true regarding Industrial Employment (Standing Orders) Act, 19467
1946-6e1 BWIIQGB 0fotqeR (qRomdaslu’ BodaLQ@ ) a2 MIMWES GIOSaORM JTRIAIMSEIM o3 talws)?
A:-Within 6 months from the date of application of the Act, the employer shall submit to the Certifying Officer 5 copies of the draft standing
orders
@G ocIleowlane Clod] go@ 6 aomosinedl, emodiajsa @S qMBMlu) BIBWRBESS 5 EBIalE:Ud MIBHEFED Boadlmudes Muadqensme
B:-There is a schedule which sets out the matters to be incorporated in the standing orders
TRI@uiloty BIBWQRBEIB DUBOFETDETE HIRTRUY QUSRI GG G)r&(\bé(fa O6NE
C:-There is no provision to refer the draft standing orders to the Unions/Workmen by the Certifying Officer
®0S qRodaulw’ BodaLQEUd Qemlwmeud / emodlengleudes MIeHEAISEDM 80adaud 0and ealIMEs ATy
D:-Certifying Officers and appellate authorities shall have powers of Civil Courts
MUIBHOISTOM PEBPNTVABER @aflad ERWlB:0BlE:UBez. Milaled eisTlegns @ule:oosmmud Paroldlese
Correct Answer:- Option-C
Question26:-Under the Industrial Employment (standing orders) Act 1946 draft standing orders are to be submitted within
DBWIYIQ aleeeiooR® (quomBaulsy 8o8aweeud) @@ 1946 we:0oe &S quomBaulyy BoBawQE:ud madaflesoerrmoeny.
A:-Two years from the date on which the Act is applicable in five copies
Mo RIWBRIEM GIRC O@ E6NE AdUoDIMRes!d, @oeml m@,d(ﬁ\ﬁ,gﬂ«ﬁ
B:-One year from the date on which the Act is applicable in five copies
Mo NIWBRIBM GG IO B AUBHOIREs, @oam! madﬁ@g’laﬁ
C:-Six months from the date on which the Act is applicable to an industrial establishment in five copies
@R eoafleglane 8 QMO MNdIMEBIM Mleae MDWH2IR RG] YO ERF M ETlascd
D:-Six months from the date on which the act is applicable in ten copies
Meze NIWH20Q G| JO@ @RHO BOMVOTIMRSS®, alow maaadqda@'kmi
Correct Answer:- Option-C
Question27:-Which act requires employers in industrial establishments to define the conditions of employment?
QIS MuNdaImEEEnal OmIFlasasud EmIFIT aIMAGUd WBALIEEMEAM EBHAILEASM TR a@o6m?
A:-The Factories Act, 1948
andRAY @y, 1948
B:-The Industrial Disputes Act, 1947
apamoie ods dloas., 1947
C:-The Industrial Employment (standing orders) Act, 1946
DBWIYIQE aloee® (quomauslsy Bodaweewd) Mwa., 1946
D:-The Trade Union Act, 1926
esw Qemlem dlon., 1926
Correct Answer:- Option-C
Question28:-The Industrial Employment (standing orders) Act, 1946 applies to every establishment employing
1946-621 LBWTIQ® afotae@® (qRomBaslu’ Bodawqeud) Mlwae ez0e]l ©.aIQIIM af)QJd MUIAIMEBRUISTo FIOWHAIENS.
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A:-100 workmen
100 emodlengls:ud
B:-150 workmen
150 emodlengleud
C:-150 workmen on any day preceeding 12 months
12 aoaueniay gmies ageoslel 6@ damual 150 emodlenglewd
D:-100 workmen on any day preceeding 12 months and the government can order by application to establishments employing less than 100
12 aomuamial gmyes egeosilal 6@ damuae 100 emodlengsw, 100 @ @iy emoal eagan mundamesglcd Mad@odlm @oealds aisl 803w ©aloaymosy
Correct Answer:- Option-D
Question29:-The provision relating to suspension has been made under which of the following legislations?
TUEHTYMBAUMEROW] FNIMWOAIS AUAIMLO Mo ag@ Mleamosim’ @llenem’ guﬁsnﬁmhﬂra%ss;«n@“?
A:-Industrial Disputes Act
QIO @B Mlae
B:-Trade Union Act
es @emlom mloae
C:-Industrial Employment (Standing Orders) Act 1946
DBWIGQD 0glo6aioeQa® (qRomaslsy @odwgeud) mlwa. 1946
D:-None of the above
BT IOATHAIHDIM. @oL)
Correct Answer:- Option-C
Question30:-Which of the following amendments of Industrial Employment (standing order) Act provided for payment of subsistence allowance by
the employer to a suspended employee pending enquiry against him?
MUEOMYMBA 621Qeals 8@ HAINEBIEN GRABMGIOE GREMINHEM. (Heirl@entmiud emIFlasa paflaim @RRIAIBMY MMEMGINY DMAWMIRM agotqe@® (qRoBaulyy BodawWA)
dloaooieal oaflao@m eeeOXeEI® ag@mosm?
A:-Industrial Employment (standing order) Amendment Act, 1956
DBWIIE aoeeoe® (quomaulyy sodawad) eesnol mlwa., 1956
B:-Industrial Employment (standing order) Amendment Act, 1963
DBWIGPQD floeaioeQa® (quomaslyy sodwad) ersunal mlwa.,, 1963
C:-Industrial Employment (standing order) Amendment Act, 1982
DBWIIRE aloeeoe® (quomdalyy sodawad) eesnol mlwa., 1982
D:-Industrial Employment (standing order) Amendment Act, 1961
DBWIGPQD 0gloeaioeQa® (quomaslyy sodawad) eesunal mlwa., 1961
Correct Answer:- Option-C

Question31:-The copies of the certified standing orders authenticated in the prescribed manner may be send to by the Certifying officer
within 7 days.
dluaio dololo EowWle:eeyseI@ MISHPSOTI® qRIMlUY BIBWBEES ald@oerud 7 damasimde Mdgleennilewy eoadlmud @OQEEMo.
A:-the employer
omoslajsa

B:-the trade union
e Qemlm
C:-other prescribed representatives of the workmen
o@a@msg’la’gos 2Q Mddley @olalwleud
D:-all the above
P (RN TeTON =T
Correct Answer:- Option-D
Question32:-The appeal on the certified standing orders may be preferred within days before the appellate authority.
MISUPAISOBI oBaulet’ BB gl @Rl @remIdIHles gmuowl Blarvosiegsglcd Mmadaoamamosn.
A:-60 days
60 dlaumoe
B:-30 days
30 Ao
C:-15 days
15 dame
D:-90 days
90 dlaurve
Correct Answer:- Option-B
Question33:-Standing orders shall, unless an appeal is preferred, come into operation on the expiry of days from the date on which
authenticated copies are sent under sub-section (3) of Sec.5
@Rafled aidlnemmence] m@mslolglogElcd ealaida] (3) e @RWE:Gle»:a0w m@,(aqdazuﬁ omuesm 5, ausni-eauesm (3) 0. @RWleIGlea0w m:e,dqdfe:uﬁ @PW.4| BRG] Y@
Alaimoeaned @paimomlenemioud quomaulowy BoBWLQRBUS IO QIG3..
A:-60 days
60 dlame
B:-90 days
90 dlaurve
C:-30 days
30 dlamve
D:-15 days
15 dlame
Correct Answer:- Option-C
Question34:-A copy of all standing orders as finally certified under the Industrial Employment (standing orders) Act 1946 shall be filed by the
Certifying Officer in a register in the prescribed form maintained for the purpose, and the Certifying Officer shall furnish a copy thereof to any person
applying
DBWMIIEB agoteieRal (qRomdauleu’ 8o ud) @re 1946 @@ 5alM MIBHEWSOTID agej (RIMBALYY BIBWRBEHSYe BG aldBal MAZEOANTIUY Boadlrud
@RAIOTIMNI] aldlanalesom alddley ol 8@ EEITYIM @ ©.a1QEM., &SIO® MAFEeASw) BoadlnA ERTIEMR EREAIBHIEBIM FO@IT® AUBTIER. B ald@a] M@EEM..
A:-through employer
OmIFlajsa peaIm
B:-through court
€d05®1 Ul
C:-on free of cost
©VDBMYRIQ]
D:-on payment of the prescribed fee
lual® adlny @S g0
Correct Answer:- Option-D
Question35:-Standing orders finally certified under the Industrial Employment (standing orders) Act 1946 shall not be liable to modification, except
on agreement between the employer and the workmen until the expiry of months from the date on which the standing orders or the
last modifications thereof came into operation
DBWIYIQE aloeoeR® (qRomasslsy Bodaweewd) @@ 1946 weor. agalcd MIeH eSO RO BOBWQREUS, EMIFaSAQ. 0@5lenglg. 8D Gl@aflenwoenodla]
aRomanlery’ B0BWQRSBB, TRIMUlewY BIBWQYHEeS GGG mlemo 0IBI@3 @OAIWIM EBEN®I MSa]l@d aIm Gl mleama 20MVEERBERSSIT CRANGIER
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allewogy
A:-6 months
6 moaue
B:-3 months
3 moave
C:-12 months
12 move
D:-9 months
9 moave
Correct Answer:- Option-A
Question36:-If any workman is suspended by the employer, the employer shall pay to such workman subsistence allowance at the rate of
percent of the wages which the workman was entitled to immediately preceding the date of such suspension, for the first ninety days of
suspension.
aeO®laj 6@IFenglow 6mIFlajsn MOTMMMY .21, HE@IFIEYSE EROME. E@IFRDE:UBE Pasllaim @PRIMBIY, TVBMYMBU® G EmIgEMT a®mIvlengles aidlewren:
CRIOMOTOR W@O@IMo g MRS, MOMMBUBOO EREEO O@OgRY AlrueomEs M@E6Mo.
A:-75%
75%
B:-50%
50%
C:-60%
60%
D:-70%
70%
Correct Answer:- Option-B
Question37:-The Building and other Construction Workers (Regulation of Employment and Condition of Service) Act 1996 applies to every
establishment in which or more building workers are employed
oagls midaosm emodlengleg. ag midanem emodlengleg (e@adImd MlE@emaye GruAIM AIMO) dloe. 1996 ) @ @O ebgls emoslengleud
e220e]l ©21Q) aggld TVNIAIMEBBUBER EUOWSREM.
A:-five
@6l
B:-ten
al@oy
C:-twenty
DBal®Y
D:-fifty
@MU
Correct Answer:- Option-C
Question38:-What is the minimum required number of building workers under the Building and other Construction Workers (Regulation of
Employment and Condition of Service) Act 1996 to Constitute Safety committee?
emogl Sl @aledeamain saglsoloRw. ag dldazsm emoslenglegesys (emodld mw@sma sruam ajamar.) oy 1996 o aldlaes oegls emodlangdgss gl
H06T0) a)6Ro af)@OWOETH?
A:-100

100

B:-250
250

C:-500
500

D:-1000
1000

Correct Answer:- Option-C
Question39:-Under the Building and other construction Workers (Regulation of Employment and Condition of Service) Act 1996 for the registration as
beneficiary a worker must have been engaged in building and other construction work during the preceding 12 months for atleast.
©eMERBMINDS Eedlemyaumon iy, ag @embayesm adesy (emodlad MlEEMaye GrLAIM AAITORR) e 1996 ®:or. 8w emodlend a:vleom 12 nrvensilaj edgls
mideposmamileje ag ailderoem @dCmMEIBElal Y@BERRG 0f@ GlaIme agd@easldleeme.

A:-30 days
30 dlaurve

B:-90 days
90 dlarve

C:-120 days
120 dlarve

D:-80 days
80 dlaurve

Correct Answer:- Option-B
Question40:-The minimum number of female building workers required to provide Creche facility under Building and other construction Workers
(Regulation of Employment and Condition of Service) Act 1996 is
enflcdcuflews, ag eemaysumd cadesg (0@0¢lmd MEEMA GIVAIM QIITLATY.) @@ 1996 @@:00s @ 6TVIB0LK0 SBEBIMTIM @RYAIAID aBQQe EOSTID @ edgls
ematﬂmagﬂ@,ges ag)6Re Ah©@?

A:-50
50

B:-30
30

C:-10
10

D:-none
ammodlsy

Correct Answer:- Option-A
Question41:-Which among the following is not a mandatory provision under Building and other Construction Workers (Regulation of Employment and
Condition of Service) Act 19967
1996-ee! enilcdaulws, ag’ aldemosm emoslangleud (6modod MEIMaj ETLAIM ARAITINGY.) ERE @JE:00: @IS AIOQMAIRIBS agmosm MldsmIMWIm AlAIMIN GREOT®?
A:-Drinking water
SSloss.
B:-First-aid
QDO
C:-Canteen
SOy
D:-Entertainment room
allemos gal
Correct Answer:- Option-D
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Question42:-Under Building and other construction Workers (Regulation of Employment and Condition of Service) Act 1996 the constitution of State
Advisory Committee included in
enfladauslow, ag’ afldanosm emoslengleud (emodlad mlamemaje eruaIm aaIMO.) @R, 1996 @@0ee MVmNIM Daleduod: MEGlEes REIMARISM ag® allcow ol
236 HI8E o]lBlesmo.
A:-Sec 3
omuaumd 3
B:-Sec 4
emueum 4
C:-Sec 5
omuaumd 5
D:-Sec 6
emusum 6
Correct Answer:- Option-B
Question43:-What is the minimum required number of persons to be employed as per the Labour Laws (Exemption from Furnishing Returns and
Maintaining Register by certain establishments) Act, 1988, for considering as a small establishment?
8@ 620l MNIaIMAID aldlnemlesmm@a, emodlad mloasud (alal UNDaIMEEBEES andemlaallowy Slegenodud) eelepam agmlanicd dlmess sogai) @R, 1988 @rmaudls)
ez0elle MIROTIQ aBQ0Ye SOOI ERSHEOS afeRo A @@oem?

A:-Zero
B

B:-50
50

C:-20
20

D:-10
10

Correct Answer:- Option-D
Question44:-What is the minimum imprisonment for not complying to the Labour Laws (Exemption From Furnishing Returns and Maintaining Register
by certain establishments) Act, 1988?
omodlod rlwasnud (aler mundaimenud dlegemeud andemlnlouilad mlmy adlane, eeflqyd deimldoma) 1988 sel mlwa. @MIVAEGITDIOR a@gQYe @0sm @SA ag@@E?
A:-Two years
©6NE QUBaHo
B:-One year
B QI@aHo
C:-One month
63@3 MI(Mo
D:-None of the above
HE@D AlOOMAIOWIMB. @8]
Correct Answer:- Option-C
Question45:-The exemption from returns and registers provided in which section of the Labour Laws (Exemption From Furnishing Returns and
Maintaining Register by certain establishments) Act, 1988
omodlad mloamsglen ogo aleonopia maelaldlesm degsmaeglod mlimm. emlayeeele mlangss oaal (aller munoaimeaBed dlegameud andamladlluld mlamre aldlaoelesmmoicd
e eslane) ardy, 1988

A:-2
2

B:-3
3

C:-4
4

D:-5
5

Correct Answer:- Option-C
Question46:-Under which of the following Act, disputes between the workers are settled?
@06 al0QMMAIRIEE 3@ TSR 6®mIangle:ud ®mlss AR alBlnOClE@®engM®Y?

A:-The Trade Disputes Act, 1929
Qe Ods oz, 1929

B:-The Industrial Disputes Act, 1947
apamodle odes dloas, 1947

C:-The Trade Union Act, 1926
esaw el dmlon., 1926

D:-The Employees Compensation Act, 1923
f)oGqio@MY EBoMIBETVAHUMD @R«, 1923

Correct Answer:- Option-B
Question47:-Which among the following is correct?
®069aJ0QIMAIRIEB ag@®oe Kodl?

A:-A workman presents himself for work at the establishment at the time appointed and is not given employment by the employer due to
shortage of raw material for two hours shall be deemed to have been laid-off
6@ ez20elaoemd Moy Ma@OEDY MNdAMEBICS ¢e0alle a00BEIME Qe ENE AMIEB ERIVIP® AUITREBSHS @HIRo »:IOEM. EMIFIR)SH e0all M@BB:IGIClEEE:Q 62103
HRIQW-60a0005 BEMEDIBRo.

B:-A workman presents himself for work at the establishment at the time appointed and is not given employment by the employer due to
shortage of raw material for one hour shall be deemed to have been laid-off
8@ 6=0llenoem mlwaly A MLOIAIMEIGE EIRlEs A00REIGEQ BT BeMlEsd @OTVP@ AUTYEHSOS B40%o :0O6Mo 6@¢lajs0 emoell NMEHITIEEBHQ0 6.21QIT3
©LIQW-60a00Q) BEMENIERo.

C:-A workman presents himself for work at the establishment at the time appointed and is not given employment by the employer due to
shortage of raw material for half an hour shall be deemed to have been laid-off
8@ e20alarnomd Moy Ma@OEDY MNdAIMEBICS ¢e0alles a00BEIGE Qe @REREMIESE0IZ GOMNIY® ATRESOS BUR. @M. 6@IFIAISA czoal MEBEHITICIER®Q 6.21Q0cd
ORIDW-60a00Q] &EMENIES0.

D:-A workman presents himself for work at the establishment at the time appointed and is not given employment by the employer due to
shortage of raw material for three hours shall be deemed to have been laid-off
60 ez20elaoemd Moy AT MNdAMEBICS ¢e0alles a00BEIMEQ GM AEMIBE EOMVIPE AITYESOS G @M. 6@IFSA ez0al MEBEHOTICIERGQo 6.21Q0wd
HRIQW-60a0005 BEMEDIBRo.

Correct Answer:- Option-A
Question48:-Which among the following conditions, an employer can Retrench a workman?
©I69JOQN AUAUMABEIT BT, BTG E®FaSag’ B8 e@IFlenglo aldlyalsom evlgma’

A:-Termination of the service of workman by the employer as punishment
Bler@owl emodlasa e®alemieed® emaime @oAITLIMlfless

B:-Termination of the service of workman by the employer on ground of continued ill-health
5B 5OV ERMICEIVITTOMR GBIt EmIFlasa E@MIFRIEIRQeS GrLAIM. @RAIMVIMnflerad

C:-Both (1) and (2)
(1) £ (2) 2
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D:-None of the above
G AlOFTMAIOWIMR. @5
Correct Answer:- Option-D
Question49:-Who among the following person is not workman under the Industrial Disputes Act 19477
1947-s01 aipaimiode ode dlome @MMEl] @69 alo@mMadied @ czoalaroem @oeom®?
A:-Person engaged in manual work
66BEOB6NEE 2IQD e20ellol@ agdeasldlenm ayemi
B:-Person engaged in supervisory work
Maj@eenimnud emoeloiad agdeagldlesm aiemds
C:-Person engaged in technical work
IeB0HH 620l gdeajsiclesm aieds
D:-Person engaged in administrative work
@EMAIE2I® 2200l aRdeqSIdlesm el
Correct Answer:- Option-D
Question50:-The duty of works committee is
dss seldles &sawoem
A:-Filing suits against the employer on behalf of the workers
omodlengleudeas’ s 6moFiajsaeROINE EHTYSU QM HaIQS:
B:-Recruiting the workers to trade unions and ensuring collective bargaining
00slenglees esuy Qmlomaglees Gl@s ©.aQdQs &30 QlleiEnld® POIERGYo 6.aIQd:
C:-Securing and preserving amity and good relations between employer and workmen
6mo¥lgsank H@IFIeNElB:ge MAR)Ss HIUVAYBERe MBY FNUTMUWQJ M I DOMRHQo M dl Qo O2IQYd:
D:-Leading the strikes for the rights of workers
s)@osﬂemg’leagos @RAISIDEBRUBEREAIMNEQYSS TUAREBULE BN Mo MM
Correct Answer:- Option-C
Question51:-Select the statement which is not correct?
AT TRIUM TEETOFERS.
A:-The appropriate Government may appoint conciliation officers
MITWEAI5 MUABEHIB ERIEEEBM LEBPNMNEE MlEre
B:-The appropriate Government may constitute Boards of Conciliation
IMWEJS MAHIB @RMEERM eNIIBARH:US @alle:@lEnde
C:-The appropriate Government may appoint one more National Tribunals
MITWHI5 MR B 6BUEIR OOSENEIRIBEOS &s] mlodleqsmoo
D:-The appropriate Government may constitute a court of inquiry
M5 MUABEIB BT @REMIUEM EHIST| @Gale@lendo
Correct Answer:- Option-C
Question52:-Select the matters that will not come under the jurisdiction of Labour courts?
celenId EdISTBgeS EPUWlE:00aElILIRIM IO B:OEIERUS TEOETOSERS:.
A:-Bonus, profit sharing, provident fund and gratuity
GENIOEMMY, BI0Ee alEIS@3, S0l aneng, Wogaldl
B:-The propriety or legality of an order passed by an employer under the standing orders
TRI@auiloty BIBWQRB WIS HIFIT8 B H@IFIRISA DMIHIW B BIAWCIER aalmiend Cloamoy®ewd
C:-Withdrawal of any customary concession or privilege
ABOOEIGj ATl DBYHUS EREYBIT @EDBIB:IWR. allBaalendd
D:-lllegality or otherwise of a strike or lock-out
dloaclaeno CregIBI® TVar. GRELEITS eI DS
Correct Answer:- Option-A
Question53:-Which among the following will not come under the jurisdiction of Industrial Tribunals?
®069o0QMAUIRI BN BaLMIl@®3 OeSMIIMa)EEeS @oUle:00adlulwlcd QUEICD®?
A:-Hours of work and rest intervals
e=oelQes aamig@Qds. allwn wseagsge
B:-Classification of grades
BOWSEes adleem.
C:-Withdrawal of any customary concession or privilege
ABOOEIj TN OSNYHUS EREYBITR EDBINS:IR. allBaalendd
D:-Rationalisation
00aHUMESRIBTVAHU
Correct Answer:- Option-C
Question54:-In relations to the notice of change in respect of any matter specified in Fourth Schedule, which among the following statement is not
correct?
MoLI%e 6)&(\1)@1«53 m‘\‘ﬁ@mo‘ﬁsﬂmﬂ%gg ABOOBIaj 0RO IMLES QOB mo’lmﬂnpdmomﬂ BNIMWENS, GIOLOVYM TRIAUMBEITB oGO Wdlwe?
A:-Notice of change shall be given to the workmen likely to be affected
6n10uledm mowmREs emIFlagle:des 20goole® @odlaflal m@ee
B:-Notice shall be given twenty one days prior to the change
20wl eo@alowlo@om’ dlaime gl @rAlla] M@
C:-No notice is required if the change is effected in pursuance of any settlement or award
ageoElgl emudlasadlodeo @randaulodewo @rslmoomEmlcd @dg. AmEIE @odlallq] @raivele)
D:-All the statements are wrong
)50 @TRIAUMEBGo ODOQIEITY
Correct Answer:- Option-D
Question55:-Persons can go on strike in public utility service
alepfle @glefdl cudallmiad aedle:wdes” alemigses msomoo
A:-Giving notice to the employer within six weeks after the beginning of strike
alemIgses @RE.Elal @R0IERESIT 6®IYlasag) eMIglmy M@
B:-Giving notice to the employer within six weeks before striking
alemigseam@ilay gmi @roogaslcd emodiasag) emoglmy’ madss!
C:-Giving notice to the employer within three weeks after the beginning of strike
alemigses @R E.Elal gMIgResed emodlaisagy’ emoglmy’ m@de:]
D:-Giving notice to the employer within three weeks before striking
alemigseamaila’ gmi gmogeesicd emovlasag) emoglmy madse!
Correct Answer:- Option-B
Question56:-Notice of lock-out is not necessary, if
6010E- 6305 EMISITY @RAILRYAIE), oBD MO0 alEKOBIE?
A:-Already strike exist in the industry
QQUTLORETIB EMEHOD M alemigsas mlainlejeng’
B:-The industry is a public utility service
QUMW B@ 610D DalCIUN) GaLQIMAIEM

Tuesday 28 November 2023 03:13 PM

http://192.168.1.6/dept/modules/marklist/answe...



Home Page http://192.168.1.6/dept/modules/marklist/answe...

C:-During the pendency of any conciliation proceedings
aBOOBlEj GOMEEIBM MSaISIBEeS @B OEITH TV
D:-During the pendency of any court proceedings
lejo 605@ MSalsleges Gldqoamoom Mo
Correct Answer:- Option-A
Question57:-A workman shall be said to be in continuous service of one year, if
6@ ¢20eleoem 8@ Alda ©SB9WIR ETLAMAMHHBM@IV] A0S0, R VY0 YOI ?
A:-he actually worked for 180 days below ground in mine during the last twelve months
&9leom a6 aocvsmgla @regane 180 dlam. gdles @oey aumlalcd smoall eaig
B:-he actually worked for 190 days the last twelve months
ST @6 20V6EBEIT8 @PEGane 190 dlairve emoell 6.l
C:-he actually worked for 210 days during the last twelve months
&6 a6 20sRgl@ @regane @InodmueDiad 210 daim. emoell eaig
D:-he actually worked for 190 days below ground in mine during the last twelve months
SO @6 2omEBgEled @ega0s 190 dlairve @ales moey aumleiled emoel ealg
Correct Answer:- Option-D
Question58:-Select the correct statement
BAWIW TPIUD TEEETDGERE:
A:-Lay off compensation shall be paid to workmen by the employer, even if, lay-off is due to a strike on the part of workmen in another part of
the establishment
el 630ad Magal@lad0Ge 6®IFIRYSE 6@IFIRNEIWBE M@0, Mlualm TRAED MASAIMETIMEO 2OQIG CINEOD EEIFLFIBENS AlETIPSE BOGEMo Gl Boald @REEMEITS Ealdaj
B:-Lay off compensation shall be paid to workmen by the employer, even if, workman does not present himself for work at the establishment at
the appointed time
2512108 MVLOdAIMOBIBD QTR VOB emoelles’ anomeowilegilal, emodlajsa emodlangleudes’ njraﬂ%oﬂsmﬁ Mayal@lan0Ge M@B&r0
C:-Lay off compensation shall be paid to workmen by the employer, even if, workman refuses to accept alternative employment
691106 @ @I mulle:dlenond alrueadilajog, el 6a8 MeYaldlnno@. H@IFIRISE H@IFIRIENB:UBE M0
D:-None of the above
ABHEIW AOFTMAIOWIMR. @5
Correct Answer:- Option-D
Question59:-Conditions of the retrenchment include
alldlgalisellod agamaseglcd ouoqygm
A:-The workmen has been given fourteen days' notice in writing indicating the reason for retrenchment
nﬂraﬂ_qdclﬂsem@g &0@6Mo Myallafla) ©@odlengleudes almimoel dlaimecm emoglmy eeagel mmﬂaﬂmﬂgmﬁ
B:-The workmen has been given twenty one days' notice in writing indicating the reason for retrenchment
alldlgaliselmes &oemo Myallaflal’ e@odlengle:udes maiwlomom damueom emosimy’ coaogel mr&&@ﬂ@’lgm@“
C:-The workmen has been given one months' notice in writing indicating the reason for retrenchment
nﬂraﬂ_qdclﬂsem@g &0@6Mo Myallafla) ©@odlengleudes 6@ BOTVOE EMIZIMY ceEIIgel mmiaaﬂtnﬂ%sm‘
D:-The workmen has been given three months' notice in writing indicating the reason for retrenchment
alldlgalisellmes &oemo Myallaflal’ e@odlengle:vdes gam’ @omueos emoslmy eesgel maﬂﬁﬂmﬂgm@“
Correct Answer:- Option-C
Question60:-The closure of an undertaking can be made only after sixty days' notice to appropriate government, if
8@ @REMNAESEU’ @AMIMlnlEBM@Y fnIMWea)s MBI @R FlaiImecm @AM ¢Uat AIER MSTEMIMIE:
A:-Undertaking in which one hundred or more workmen employed
600 @pEleuwle:ea0 emodlengleud emoel Oagm mundaime
B:-Undertaking in which two hundred or more workmen employed
D@ME0d @edlRILleend 6@Fgleud emoall HaIgaD MudalM.
C:-Undertaking in which fifty or more workmen employed
@PMalem @OIRIWl®:e0 emolengls:ud cmoal £aIQM MLNdaMe
D:-Undertaking in which one hundred and fifty or more workmen employed
WEMIEmO @eolaiwle:end emodangleud ec2oall ©agan Mundaim.
Correct Answer:- Option-C
Question61:-The compensation for workmen in case of closing down of undertaking is
MU0aIMo @RS aflgH@IMEBIE E@IFIRNElBWBERES Maynl@ande
A:-The compensation equivalent to thirty days average pay for every completed year of continuous service or any part thereof in excess of six
months
5@ 5|V CTVAIMOTIO®D gl AIBUOIM. ERELIBITE @R PIMVOTITE LTRSS ERTIOM FE®E®BIAl CINODIM. Pajd) FlAITLEOD WEIWE! WMIBOTINY DEIAIW MaYal@lanIGe
B:-The compensation equivalent to fifteen days average pay for every completed year of continuous service or any part thereof in excess of six
months
©5@ 4@V ETLVAMEBIOMD af)ald AIBaUEIM. alTimeml FaImMecs EIBE! LMISOTIM BRI MeYalElnNIC. EREYEIT @RT ITVEBITE LFOEISS ERTIOM oFo®Bla BIW.
C:-The compensation equivalent to average three months' pay
(EIE! YA’ FOTVOO WMISTTIM DA MYal@loNoGo
D:-None of the above
AHE alOFAOWITR. @05
Correct Answer:- Option-B
Question62:-Which among the following is not punishable under the Industrial Disputes Act, 19477
1947-001 apaimiode; @de rloae @rmIVEle @690 Wlesleeasooma agmoem?
A:-lllegal Strikes and lock-outs
Tloaalesed MaeeEBEE. CReEDIE:E
B:-Giving financial aid to illegal strikes and lock-outs
TloealsrIII® MEEERUBER. CRIOEDIBUBER MUIMIITIE TIANIWoe MG
C:-Breach of any term of any settlement or award
ageoslgl emugladeadlodeo @panduledemo age®mEal QNITLOQRSS BlaiMo
D:-None of the above
HE@D AlOOMAIOWIMB. @5
Correct Answer:- Option-D
Question63:-Who among the following cannot be represented in a dispute for any workman?
ageO®Iaj emFanglEs cmEes MABOIT a0 @R olmluledendd eslalg?
A:-Any member of the executive or other officer bearer of a registered trade union of which he is a member
@PEGa00 @RI 6@ EHIMYA 621 esay Qemlwed n@gﬂaéﬁ\oﬂam ABOOEIRj @RER0 AF 60adlMA HENIOEOd
B:-Any member of the executive or other office bearer of a federation of trade unions to which the trade union is affiliated and he is a member
esw el @radlefleg mmtgﬂ%ggga @PEGaNe BRIV GSA QMM HanaLE0US n@)ﬁﬂ@,ﬁoﬂmm ABOOEIBj @ReWe @RORIEHI Y @IEAAGIEUS
C:-A legal practitioner
8@ dloa @oglaemad
D:-Where the worker is not a member of any trade union, by any other workman employed in, the industry in which the worker is employed and
authorized on this behalf
0@a¢lengl agoo®laj s QMM Gr.wangEscs, e@odleng ezoall HaQID MuotwMOTIee! 26geO®:laje LGIMIW EPWIE:0EEFETIV®RIW H@IFIREIWT
Correct Answer:- Option-C
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Question64:-Unfair labour practices means any of the practices specified in the
@RMPWAIQ HAIFIG TVEYRIWEEBUD @PAMOAIEBM® MRAODID RO smyn.ué(fa mAmmomﬁmﬂ%gg aReOO®BsRje Blmle:go6rTy
A:-First Schedule
@3y G)fﬂ(\DéUa
B:-Third Schedule
@M HHALLD
C:-Fourth Schedule
MRS ansm»éuﬁ
D:-Fifth Schedule
@60 Qnyobécr&
Correct Answer:- Option-D
Question65:-Matters within the jurisdiction of Industrial Tribunals listed in
Bl Gﬂm.léﬂneg‘ﬂags)s @pwle:oraclwlciees eﬂrgs@mqﬁ«ﬂm(m HH0EEERUB
A:-Second Schedule
©6TBI0 EHANUD
B:-Third Schedule
@M HaHALLD
C:-Fourth Schedule
MIRIDODOD sunsm‘.uéua
D:-Fifth Schedule
@60 s)n‘ycwéui}
Correct Answer:- Option-B
Question66:-The object of the Trade Unions Act, 1926 is
1926-60 csaw Qemloa @l oy aleue
A:-Registration of the trade unions
esw Qemlomedes eeflemyaum
B:-Registration of the trade unions and in certain respect to define the law relating to registered trade unions
ESW QETQMGEHS EHEMYam., ailel MumdemRgcd eelleqydy esuy QMlomeendl mmweqys dlwa. mldallamailm.
C:-To regulate and conciliate trade disputes
Qa0 OA®aRud Mloleamain. @omeelaesmmaime
D:-None of the above
ABHEI AOFAOWIM. @05
Correct Answer:- Option-B
Question67:-Select the one which is more correct statement regarding 'Trade Union'
'esawy el auesninuwlsl @S LGOI EMYIAIM BlEEEMGERE:.
A:-Trade union registered under the Trade Union Act, 1926
esw @smlom esw Qoo ere, 1926 «eoc. esllqyd eagan
B:-Any combination formed primarily for the purpose of regulating the relation between workmen and workmen
0@lenglgs, emidlengldg. malass miaw. MREIEMGIM @ondlenw] @Gale:dla agooelaj eaomilemau
C:-Any combination formed primarily for the purpose of regulating the relation between employer and employer
6molejSaQe, HMIYIRSAN ®adla)ss mIMw. MEIERMTIM (olndle:a00] @alle:dlal agomelgj emomiemaumd
D:-(2) and (3) only
(2) 20 (3) 20 20@o
Correct Answer:- Option-D
Question68:-The minimum number of members required to submit the application of registration of Trade union is
s Qemloed eeleraad @realdy Madalerdm @RAIBIRID aFGJ BOED @UIEEBSOS afEfRo
A:-Five
@6l
B:-Seven

aR¥
C:-Nine
SMIoY
D:-Eleven
alolemoar’
Correct Answer:- Option-B
Question69:-The minimum number of workmen required for the registration of trade union.
GSUW QMM EEIETYUT GRDAIBRID ARG BOETD omauﬂmogﬂages af)Ro
A:-Ten percentage or one hundred workmen engaged or employed in the establishment or industry are members of that trade union
MLOOAIMOTIERID QI leei ag@eqysldlenmemd emoel £.aIMEmI @R AldD) YRIM. ERERIBIT M EIFIENEltW @Y eSS QMIVMIE ER.WEEBEEN
B:-Five percentage or one hundred workmen engaged or employed in the establishment or industry are members of that trade union
MUNJAIMATIEEI QIIMODOTIERI aRBealSldlesmemo czoal £2IQMEO EO® @RI VERMo @REgIEIM M O®IFlRNgleud @R esa QMM @oo.waBRgeM
C:-Ten percentage or fifty workmen engaged or employed in the establishment or industry are members of that trade union
MLOOAIMOTIERID QI leei ag@eqysldlenmemd emoel £.aIQMEmI @R AldD) YBMRIM. ERERIEBITS EPMICY EIFIRNEI®:MD @Y ESUY QMM EWEEBEENY
D:-Five percentage or fifty workmen engaged or employed in the establishment or industry are members of that trade union
MUNJAIMATIEEI QIIMOOTIERI aRBealSldlesmemo cmoal £2IQMEMO ERO® @RI VEROMo @REQEIM @RMIAY 6mIFIIEle:0d @R esy QMle@ITd @r.»EREeT
Correct Answer:- Option-A
Question70:-Select the condition when the registrar of trade union can reject the application for registration of trade union?
esw Qemlom eelryodes esa Qemlom emEleTRMIQEs @osalsy MleMIlEndm &FIQM AAIMIO ClEEIDFERS.
A:-Seven members of trade union applied for registration but before registration two members ceased to be members of the trade union
esw’ Qemlemlenl a@d’ @.LERUY EHlEMYaHMIT] @ealdHly, agMITs Eeflemyaum gmI e @P.LERWY eS QLTI @RVIEBICS (lm. aloalsy).
B:-Seven members of trade union applied for registration but before registration three members ceased to be members of the trade union
es Qemlomleal a@d @Rl Eeflemgaumowi @oealely, agmoed eelemyaum gmi gam’ @.nanud esaw’ Ml @r.n@iEBI Mlmoe allealy.
C:-Seven members of trade union applied for registration but before registration four members ceased to be members of the trade union
esw’ Qemlemlenl a@d’ @o.wERUY EHlETaHMIT] @oealdHly), agMITs eeflemyaum gmi’ moel @.neEBEud esmuy QMM @R.nIEDIE Mlmos allealy.
D:-Any circumstances once application submitted the registrar shall register the trade union
@IS rr\)m:i!nd’lgd.ﬁm“ 0@ aB® TVIAD. flejo ElTRod sy QMM EHEIMYA & ageme
Correct Answer:- Option-C
Question71:-If a trade union exist for the last three months, which among the following is not necessary to submit along with the application for
registration of trade union?
&leom g 0ava0el 8 esw emlem dlanlaesmelod, esuy Qo EEleTY-UPES @REAIEGHUERIOSIaj MISPaOQYMAIRIDE gy muadafesnarrme?
A:-The names, occupation and addresses of the place of work of the members of trade union making the application, in the case of trade union
of members
@ReaelEaM s QEMIMe0 oD e’ Qmlm @r.nsmrges emoell muoaITDin® Galde e@oalgo alenmug
B:-General statement of assets and liabilities of the trade union
eSS’ QETRMEO ERMIBESYo IWIOGHEOSYo HalIDAUOW (@JTRIAIMD
C:-The titles, names, ages, address and occupations of the office bearers of the trade union
eSW QETlwed coEACIBENSs WWldatdo, talm®ud, @y, allenms, emoelevd
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D:-The name of the trade union and address of its head office
s QETIMEO0 Eal@e @R@IOMR eancw’ Boadmiled afllalomuaj

Correct Answer:- Option-B
Question72:-Which among the following provision is not mandatory in the rules of the trade union while submitting the application for the
registration of trade union?
esW Qe Eefleryamow] @pealen mundaflesemioud s Qamlwe® MlamBElm @6LajOQM AININGED ogoy wldsnimwag?

A:-The list of members of the trade union
ESW QETWMEHO @RNERESS algld

B:-Objects for which the trade union has been established
esa QMM @aleeemoniden 9e3w rieuwe

C:-Purposes for which the general funds of the trade union shall be applicable
S QETIWOMR HaldD® aNMREHUD IOWHAIW OERUBKBRU aBO®EIde

D:-Assets and liabilities of the trade union
eSS QETRMEO ERMlSE. OWDEBE.

Correct Answer:- Option-D
Question73:-A certificate of registration of a trade union may be withdrawn or cancelled by the registrar if
8@ ssw Qemloed eeleryae® mudglhdeny eeElmodss allBarlens:cwd 0GIEBHEWI 6.a1Q aBD MU0 2IEKOTIC3

A:-On the application of the trade
csalen @REAIBMDI

B:-Certificate has been obtained by fraud or mistake
QUM DIYOSEWO H@OOICTE0 Mdgladleng’ smslaflammmoncs

C:-Trade union has ceased to exist
esw’ el dlaimlcda] sejomowi

D:-All of the above
ABHEI AlOFDAUOWEII0

Correct Answer:- Option-D
Question74:-The general fund of the trade union cannot be used for
s QEMIOM Halo® a0 a@@IMIT] Dalcouilenm e¢laiey

A:-The registration under The Co-operative Societies Act, 1912
e@0-80aje0glal emvoeemdl @og, 1912 @ooges eafleryaumd

B:-The compensation of members for loss arising out of trade disputes
QPR OAHEBUY FRIPETERISM MayOwilm’ @RoWEBRGOS Mayal@land@o

C:-Religious benefits for members
@RoUNEBRUIERSS AMIEAIW GR)MR:LIEERUY

D:-The unkeep of a periodical published mainly for the purpose of discussing questions affecting employers or workers
(@WOMPIQo B @I O®oFlalngl @O ENIOWIERAM €al0BKEBU3 2lB.4| 62QMEIMIC] Mlalle:dly 6 ame:eleomln® msowia]

Correct Answer:- Option-A
Question75:-The political fund of the trade union can be used for
6 QEMMEO PP a6 aG@lmow] als@ouilends

A:-The payment of salaries, allowances and expenses to office-bearers of the trade union
eSS QETIRM @0EMAIAGIB:UBES) MISGYe ERRIIMBIYSGSs O.alRIYd:Eo MTB:B

B:-The payment of expenses for the administration of the trade union
G QEMLeM EEEMOTIMIQESS HalLiq®Ud MSOEmIM

C:-The maintenance of any person who is a member of any legislative body constituted under the constitution
@0EEMALISM (@J&HIR0 @Galledlereals age@lal Mloamidaoem mAlelel® @R.WLAID of QUBOIQOSQo al@lalofiMe

D:-Allowances to members of their dependents on account of death, old age, sickness, accidents or unemployment of such members
2©6Ms, QANBERLE, GBIV, BRAIBSERUY BRERIE BROM®. @RNEBBSEES 0mo¢1allgn® agalal ©:06Me GRAIGES BRYUFIMEIW BRUIBRUIERSS ERAINIBIYE:03

Correct Answer:- Option-C
Question76:-Which among the following statement is correct?

@I6PaORM JTRIUMBSITS a@@oeTy wdl?

A:-No office bearer of a registered trade union is liable to punishment under criminal conspiracy, in respect of any agreement made between
the members for the purposes specified in section 12 of the Trade Unions Act, 1926
esw Qe dlone. 1926, erveumd 1203 aemaes]o @aiwmEEudei] @.neaBpud @l ool agomeilaj @0Q00wf MIMweas eslayd a1 esw Qamlwed s
@0eMNA0IQ Gl B9IERI MY (Elealeneaisom

B:-No office bearer of a registered trade union is liable to punishment under criminal conspiracy, in respect of any agreement made between
the members for the purposes specified in section 13 of the Trade Unions Act, 1926
esw Qe dlone. 1926, ecueum 1303 ayemaoes]o @raiwmeEude @.nemaud @l 9ol ogomeslaje ©0Q00w MITWeqs emlayd ealg esw Qamlwed 6o
@0eMNA0IQ GIN@3 BUIERIAIMY (EleslEreasom

C:-No office bearer of a registered trade union is liable to punishment under criminal conspiracy, in respect of any agreement made between
the members for the purposes specified in section 14 of the Trade Unions Act, 1926
esw el dlore. 1926, eruseum 1403 aemacss]o @raiwmERudenil @r.neaRud @ald 2Rl ago@erlaj 020wl IMweqs eslqyd eag s Qamlwed s
@00e0Na0IQ GIN@3 BRI MY WleslErea]som

D:-No office bearer of a registered trade union is liable to punishment under criminal conspiracy, in respect of any agreement made between
the members for the purposes specified in section 15 of the Trade Unions Act, 1926
esw Qe dlone. 1926, ecueumd 1503 aemaes]o @raiwmEEudei @.nemBpud @l ool agomeilaj @0Q00wf MIMweas eslayd a1 esw Qamlwed s
@0eMNA0IQ Gl BIERIAIMY (Elealereasom

Correct Answer:- Option-D
Question77:-Which among the following statement is correct?

@IHPJORQAM JTRIUMBEI@B ag@oey w@l?

A:-A registered trade union shall not be liable in any suit or other legal proceeding in any civil court in respect of any tortious act done in
contemplation of a trade dispute by any agent of the trade union if it is proved that such person acted without the knowledge of, or contrary to
express instructions given by, the executive of the trade union
cs Qemle® ogo®®la gR® 6@ esuy ©d Glal @REa0als] ©.21Q lejo @O20 (@JQYOBIQROW ENIMWE]S’ siejo adlalled e lage ausleai
og dloamsasleglenn 8@ eEMYd eag esuy Qemlem siowimamaldsslyy. s Qemlwed n@ﬁlﬁéﬁk’lﬂ@(’@ @RAIEANOSEWI @RI MAEGUEEBRUIES m’lm}@nmac@o

B:-A registered trade union shall be liable in any suit or other legal proceeding in any civil court in respect of any tortious act done in
contemplation of a trade dispute by any agent of the trade union even it is proved that such person acted without the knowledge of, or contrary to
express instructions given by, the executive of the trade union
s Qe oge®®laj (gRM 8@ S OAEOOMERC ] @RERI0alls] 6.2 Vlejo @020 @JQ QEO® NS af sieje dlalled emosolalenl ag y=Y m)égkem
29 Mloamsasleglenn am eHlqd 6.4 csay el cwmMamITidies.. esu Qemlwen n@gﬁﬂ@égﬂo.ﬂex@ @RAIEANOSEI @ReLEITE Mlde3uaRud dSlnflesmaim’ alaevaosy

C:-A registered trade union shall not be liable in any suit or other legal proceeding in any civil court in respect of any tortious act done in
contemplation of a trade dispute by any agent of the trade union if it is proved that such person acted with the knowledge of, or contrary to express
instructions given by, the executive of the trade union

a0

o

e QMo ogemsla @Ry 8@ ESU OA®EOMERCa] @RELalla] ©.a1Q af lejo @E00® @QOlQ2o®] MITWeS of Jajo mlal@d eoosaloleonl ag lego auygleei
2g dloamsasledenn am e=lqyd e.ag esaw el sowimnmoaidesis). esu emlioed n@)@@;ég'loﬂa@ @rdlennesewo @regled mldeguanud e slalesmalemo
af)@leow]

D:-A registered trade union shall not be liable in any suit or other legal proceeding in any civil court in respect of any tortious act done in
contemplation of a trade dispute by any agent
aBEOBI) aRRW B QP OBLHECERC] ] @RER0Ala] ©.21QM ageOEIel Mlaekeaim @JYOBlQRcl IMWe s of Jlejo milalled esosmilel g e exmilean ag Mloa
msalsleglean eHElMad 6.21Q s Qe iwimame)
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Correct Answer:- Option-A
Question78:-Who among the following can inspect account books of trade union?
®269a]0QMAIGIES @RAEINY BSUY QETIWER @R VT MmiEa®Ud aldlewwowlenomd eslqe?
A:-Any member of the trade union
s’ emledleal agemelaje @ewe
B:-Any member of any other trade union
2egem®lej ¢S QMoo age@®slaje @Rowo
C:-Any office-bearer of any other trade union
26Q0mElej GSUY QMM age@Elaj GIEMIG!
D:-Any person outside the industry
QMO OBTITY JOTDSB RODOTI QUYBTI Qo
Correct Answer:- Option-A
Question79:-The minimum age required to join as a member of trade union is?
esw QeI @RIR0W] EaTBMGIM ERAIBYAIW aBYQYe GO (JOWo?
A:-14 years
14 aoqy
B:-15 years
15 aoqy
C:-18 years
18 aqy
D:-21 years
21 aqy
Correct Answer:- Option-B
Question80:-The minimum age required to join as a office-bearer of trade union is
s Qerlwe @EANCIWITS GalBMEIM ERAIBIAIW GG GO @IWo
A:-14 years
14 aoqy
B:-15 years
15 aoqy
C:-18 years
18 aqy
D:-21 years
21 aoqy
Correct Answer:- Option-C
Question81:-Nursing break is allowed to a woman until the child attain the age of
gl Q@ Clegmo wee 8@ qiles Mgyl eeas @pmAGMIade
A:-Nine months
S AIMVo
B:-Twelve months
AlQO6IE @MV
C:-Fifteen months
al@lmel a0mve
D:-Two years
©6NE QUBaHo
Correct Answer:- Option-C
Question82:-Which section of the Maternity Benefit Act, 1961, provides that no employer shall knowingly employ a woman in any establishment
during the six weeks immediately following the day of her delivery, miscarriage or medical termination of pregnancy?
1961-021 encgenidl oenimadly @R@lOM® oB® Qida], 6w Mo @RAIEeS @JTual, NAE. ELRITES EReRIEIT VIBR. @PAIMLIMlA]aGIM emIgalmocess @B EREEIT 6e
0@YIRJSAQ ENIWaYAA B Mlow e@oelss mlwdemameman ayaimn su_ru«gma?
A:-Section 4
oquaum 4
B:-Section 5
emuaumd 5
C:-Section 6
emueum 6
D:-Section 7
oo 7
Correct Answer:- Option-A
Question83:-Any amount payable under section 17 of the Maternity Benefit Act, 1961 shall be recoverable by the collector on a certificate issued by
the
1961-ea6g6midl nimadly’ @@ orLeum 17 @800 GRSEREMR aB® @& PR A ®apd lde laislesmeamrmosny
A:-The authority, appointed under the Maternity Benefit Act, 1961
1961-601 oncgenidl eenialadly @od @@0ee Mlodlereans @oemodid
B:-The Inspector-cum facilitator, appointed under the Maternity Benefit Act, 1961
19616ai oacgenidl ocniafladly @@ @e0ce Mlwdleneals m@eMGA o eanmialeged
C:-The Inspector, appointed under the Maternity Benefit Act, 1961
19616ai eacgenidl osnafladly @@ @@oe Mlodlensaqs mmemyead
D:-The appellate authority, appointed under the Maternity Benefit Act, 1961
1961-0e eaegemidl emiTladly’ @R @@ MdlEeas @oa]l@d @re®did
Correct Answer:- Option-C
Question84:-Under Working journalist and other newspaper employees (conditions of service and miscellaneous provisions) Act 1955, Newspaper
employee means
QURESoUY cgsmeﬂrgde 2g al@ slameosse (ervaim Qaimadge alaflw m‘gmrrunda,ga) @@ 1955 @@, al® sflaimenoomd @pAmOa0esmoy
A:-Only working journalist in any newspaper establishment
aBOOBIEYe al@MV0INEBIE ¢l 6.21QPM al@UBTE:M 20@o
B:-Any working journalist and includes any other person employed to do any work in, or in relation to, any newspaper establishment
ez30el £21QID oGODIG al@JUBTDBMo 6ajo ABOOEIR) al@ MUNdAIMOTIERI) @R@AIW] MIMLEAIESO ageEsej czoal ©.21QM 26Qe®@Iej ABTIQ. SUeqgID
C:-Any working journalist and includes any other person employed to do any work in and news readers in channels, or in relation to, any
newspaper establishment or news channels
ezoell £21QID oGOmIG al@JUBTDE:Mo 20MEEEITS =T () 18jo al@ TUOdAIMEIERI QABEDO 2MEyBEERd afem@sa)e e@oel .a1QM aege®eslaj GO
DUBEIFM
D:-Any working journalist or free land news publisher, and includes any other person employed to do any work in, or in relation to, any
newspaper establishment
ezoell ©.a1gam 18jo al@@ud a3 S @bl enmay mém:' Q@TVOWBM, BSIOD aBOOBIRj Al@® MNdAIMOBIERN CPOAIW MITWOESD afeMEslaj. c2oall ealgan
26Q0®E:Iej ANBTIQL OUBeAIgID
Correct Answer:- Option-B
Question85:-Under Working journalist and Other Newspaper employees (conditions of service and miscellaneous provisions) Act 1955, printing press
deemed to be a newspaper establishment if
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QURESoUY cgsrneﬂrggu og méczrrgrﬂdi lamenode (emaim QAITO:So aflaflw mAmnuﬂ.ﬁ;go) @@ 1955-a% &1, I @ot) @I 8B al@ M0aINEID] BEMEBESMD
A:-Principal business thereof is to print any publication
aB® MlRUEeEM) @R4ISIERS: af M@ @O WM enllmimay’
B:-Principal business thereof is to print any publication including newspaper
al@o ©U30eS oB® (@MleUle:eeM0) @o.4ISlERE: afM@IET @RG@IOM @wom enflmilmay
C:-Principal business thereof is to print newspaper
al@o @RYSIERD: af) M@ DTSR (@JWwam enllmilmay’
D:-Principal business thereof is to print magazines with current matters
@RB0els m’lnsum)m%gg 20103 @4ISlERd: 0T @le) @wom enfladlmmy
Correct Answer:- Option-C
Question86:-Eligibility of gratuity for working journalist under Working journalist and other newspaper employees (conditions of service and
miscellaneous provisions) Act 1955, is
adsesflouy easmelqyices ag’ al@ elameddass emaim agamasgs alallw agaruasg.) @ 1955-a5 #l¥la emoall oagm emmalqiross ©ogaldlges ewony®
A:-Minimum three years of continuous service
S0 G’ AUBHOHOT DSB4/@OW ETVAIMo
B:-Minimum five years of continuous service
HOCTOO @R QAUBGHOOD DSAB4JWOW ETVAUMo
C:-Maximum five years of continuous service
ale20QIW] GRETN AIBNHOHOD DSB4/IW ETVAIM.
D:-Maximum three years of continuous service
aleacQiw] gom’ AIB.UOOm DSB 4O EILAIM.
Correct Answer:- Option-A
Question87:-For the purpose of fixing or revising of wages in respect of working journalist a Wage Board shall be constituted by the
ezoell £21QIM aI@AUBCDSHER EUDM. TlURIVLBM@IEMI DEBMGIEMo el 6o el e @Galadlesmo’
A:-State Government
MUeMOIM MVAERIB
B:-Central Government
B MBEHIA
C:-Appropriate Government
NINWEAJ5 TVBEIQ
D:-Both State and Central Government
MVLMLAIM TVBENITo B3 TVREHITo
Correct Answer:- Option-B
Question88:-Any amount is due under Working journalist and Other Newspaper employees (conditions of service and miscellaneous provisions) Act
1955 to a newspaper employee from the employer an application in his regard may be submitted to State Government by
adssilowy ememellqy, ag’ MYETYayd aflaimeod (emoaim aamndge aflaflw mgmmmago) @@ 1955 @@0e. 8@ al@o. elaime®Iem e@odasaied mlaT 8@ @REIBH TULOOM
BRI muadalenoqmmosy.
A:-Employee
flaumenoem
B:-Any person authorized by the employee
lam®em ERWE:006 O oGe®IT QAGTIQe
C:-In the case of death of the employee, any member of his family
=M EIEMO0 AREMOTIMBO0 B0, @RAIMEO E:GENITTIOR aROMEIEje @oto
D:-All the above
QBEIT3 l0TAIO®EI00
Correct Answer:- Option-D
Question89:-Which section of the Payment of Bonus Act 1965 deals with Set on and set off of allocable surplus?
1965-621 gni0emmy’ @R@IOM CaloR aB® OmMIEH®, @pmAIElEIqM dgjonien emug 6o, emy Bdad agmilageowl smimweqlsidleams?
A:-Section 15 of the Payment of Bonus Act 1965
GalOQM 0ol GNIEMMY @R, 1965 ea1 eavexm 15
B:-Section 14 of the Payment of Bonus Act 1965
CalOQM Boad GsnIeMMY @@y, 1965 eal eauenad 14
C:-Section 13 of the Payment of Bonus Act 1965
GalOQM 0ol GNIEMMY @R, 1965 ea1 eavexm 13
D:-Section 18 of the Payment of Bonus Act 1965
CalOQM Boad GsNIEMMY @@, 1965 eal oauemad 18
Correct Answer:- Option-A
Question90:-Section 25 of the Payment of Bonus Act 1965 deals with
CalOQ® B0ad @MY @@ 1965 ear eavesmd 25 200l NINWEJIBlenmmo
A:-Recovery of bonus due from an employer
6@¢lgis0@l@ @l e:slglewes emuemmy alloergened
B:-Audit of accounts of employers, not being corporations or companies
Gﬁ;ﬁ(ﬂrﬂmoﬂﬂmﬁ;mgo ﬂ;wrrﬂﬁ;(:go ({!TB%‘O(DTU) 6)@0919&5@-5;%6}5 ma)ﬂs)fnsr@.ﬁ;gos 83@1g
C:-Eligibility for bonus
GENIEMMVIMES EINYD®
D:-Set on and set off of allocable surplus
@RMAIAEIQID dlae HMVY BN, HAVY BIad
Correct Answer:- Option-B
Question91:-Payment of minimum bonus, is provided in section of the Payment of Bonus Act 1965.
dlaflae eenoemaUlBe0 GalOQMA, GalO@MA 600 GENIEMMY ERE; 1965-me0 alleonomilad madelolelesmme.
A:-Section 24 of the Payment of Bonus Act 1965
GalOQMA Boad enI0EMMY @RE 1965 eal oavenad 24
B:-Section 10 of the Payment of Bonus Act 1965
GalOQMA B0ad en0emay @R 1965 ear eavexad 10
C:-Section 21 of the Payment of Bonus Act 1965
GalOQMA Boad enIEMMY @RE 1965 eal oavemad 21
D:-Section 23 of the Payment of Bonus Act 1965
GalOQMA B0ad en0emay @R 1965 ear eavemad 23
Correct Answer:- Option-B
Question92:-The applicability of the Interstate Migrant Workmen (Regulation of Employment and Conditions of Service) Act, 1979 attracts
1979-6a1 @ramdmusmuoom @slewg emodlangdleges (6moslm mEsmaj sruaIm aIMINEGE.) FoaCTIeR EEWINEUA® EORVSUTTIEBM.
A:-To every establishment in which three or more inter-state migrant workmen are employed
QB0 ERGIRIWEER0 @RMA MVMLOIM &SIEWQ E@IFIRIEM:UY sxoel ©.21QM ol MundalmeaBglge
B:-To every establishment in which less than five inter-state migrant workmen are employed
@rlcd @IeY @IMA MMNIM ESlewy emIlangle:ud moeal £.21Q)M afafd qundaimesBglaj
C:-To every establishment in which five or more inter-state migrant workmen are employed
@REEI0 EROIRIUWSE:E20 @RMA MMM d:Slewq pmIFIeNEl®U toell HaIQM aggo TLdaImERElaj
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D:-To every establishment in which ten or more inter-state migrant workmen are employed
alcOmO EROIRIWIB:E20 @RADE MVMNIM B:Slewg E@FlegEl®:ud cRoell ©aY afgld MuNdIMEBEElRj
Correct Answer:- Option-C
Question93:-The pass book under the Interstate Migrant Workmen (Regulation of Employment and Conditions of Service) Act 1979 shall be issued to
inter-state workman by the
o@deqyy ©eaW® adeeam (emadlcd MRE@Ma0 CrVAIM AlAIMAGS.) @ 1979 We:eges anmisyss @A MMM e®Islalgldudes @RE M@do.
A:-Employer
omoslajsa
B:-Contractor
& IQHIOM
C:-Principal employer
@WOM e®IFBRI®IN
D:-Government
auBe»od
Correct Answer:- Option-B
Question94:-The rate of cess under Building and other Construction Workers Welfare Cess Act 1996 will be notified by the
1996 eai cnil@dawlowy, ag @edrysum QIdesy OAMENWA HAVMY @R (H00g8s8 eTmle® aloas Qflesmoaime ©algo
A:-The State Government
MVeMOIM MVAEHIB
B:-The appropriate Government
ENITWES TVBLIAB
C:-The Central Government
eH@ TABEHIA
D:-The Supreme Court
Mefle €IS
Correct Answer:- Option-C
Question95:-The Kerala Industrial Establishments (National and Festival Holidays) Act 1958 attracts to
1958-60! eo08 @BwrY@® agayospled (eawlo, sora aoawlecd) dlwn. wevessTlEamo.
A:-Every establishments where ten or more persons employed
alcomo EROIRIWl®:E20 EREHBUB cRoall ©aGID agld TUNIAIMEEEE.
B:-Every establishments where fifteen or more persons employed
al@mesId @REIRIWSleER0 ERSE:U3 6oLl £.21QM afgd MVAAIMEERE.
C:-Every establishments where twenty or more persons employed
DBalE®I EROILIUIBER0 CRHSHU 6ol H.aIQM afglo MNdAIMEEBE.
D:-Every establishments where fifty or more persons employed
@OMIED EROIRIWBER0 ERSHUB ¢l £.21QM ag)gd MLNdAIMEERSe
Correct Answer:- Option-C
Question96:-The number of holidays including national holidays and festival holidays available under the Kerala Industrial Establishments (National
and Festival Holidays) Act 1958 is
1958 el eo08 eBawmflomd ooyl (Mm@ @R ©anqylais eanogleanams) @O (B0 LIBAIBD AU (GTDOJUﬂﬁ:%o [olcbe] rmamuﬂ@:go 2MWeajOSQSS
mmuﬂa’gas ag)§Ro
A:-Four
moel
B:-Six

@O
C:-Nine
STy
D:-Thirteen
al@lgary
Correct Answer:- Option-D
Question97:-The formula for calculating gratuity is
@ognﬂcﬂﬂ HEMEDOEBMNTIMSS EnNIBGYL! DI
A:-Gratuity = (Monthly Salary / 25) x 15 x No. of years of service
©ogaldl =(@@lzom waugs / 25) X 15 X sarvaim aid-uanges agepe
B:-Gratuity = (Monthly Salary / 30) x 15 x No. of years of service
©ogaidl =(@oflaomv vocnigo / 30) X 15 X eroaim aidausnges agege
C:-Gratuity = (Monthly Salary / 15) x 15 x No. of years of service
©ogaldl =(@@lzom waugs / 15) X 15 X sarvuaim aidaueanges agepe
D:-Gratuity = (Monthly Salary / 26) x 15 x No. of years of service
©ogaidl =(@oflaomv vocnigo / 26) X 15 X sroaim aidausnges agege
Correct Answer:- Option-D
Question98:-Which section deals with the determination of the amount of gratuity?
@or{gnﬂgﬂ @& OlRMIEBMO al1e02dudl aidlesmo ag@ alleonaosm?
A:-Section 10
emuaum 10
B:-Section 9
emueum 9
C:-Section 8
omueum 8
D:-Section 7
emooumd 7
Correct Answer:- Option-D
Question99:-What does Section 9 of Payment of Bonus Act stipulates?
@6NI0EMINY @REIBE0 I @Yo Qldia] af)TIET @RRUBIMSEBIM®?
A:-Disqualification for bonus
csmosmm)'lnagg BREINY®
B:-Qualification for bonus
€ENIEMMVIMES EINYD®
C:-All the above
@D Al0OMAIOWEIe
D:-None of the above
QABHEI AOFDAIOWIM. @05
Correct Answer:- Option-A
Question100:-Payment of maximum bonus provided in which section?
@@ alleonamianem’ aleadaiwl eenosmmilad caloQad’ m«ﬁaﬂmﬂ%gg@’?
A:-Section 11
oquaum 11
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B:-Section 12
emueum 12
C:-Section 13
emuaum 13
D:-Section 14
equaum 14
Correct Answer:- Option-A
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